



- BT19**  $[AB] \vdash A \varepsilon el(B) \supset \vdash [\exists a] \vdash B \varepsilon a \vdash [CD] \vdash [E] \vdash E \varepsilon C \equiv [F] \vdash [\exists G] \vdash G \varepsilon el(E) \vdash G \varepsilon el(F) \equiv [\exists HI] \vdash H \varepsilon a \vdash I \varepsilon el(F) \vdash I \varepsilon el(H) \vdash B \varepsilon el(C) \vdash B \varepsilon el(D) \supset \vdash A \varepsilon el(D)$
- Proof:*  $[AB] \vdash Hp(1) \supset \vdash$
- (2)  $B \varepsilon B \vdash$  [BT1; 1]
- (3)  $[CD] \vdash [E] \vdash E \varepsilon C \equiv [F] \vdash [\exists G] \vdash G \varepsilon el(E) \vdash G \varepsilon el(F) \equiv [\exists HI] \vdash H \varepsilon B \vdash I \varepsilon el(F) \vdash I \varepsilon el(H) \vdash B \varepsilon el(C) \vdash B \varepsilon el(D) \supset \vdash A \varepsilon el(D) \vdash$  [BT7; 1]
- $[ \exists a ] \vdash B \varepsilon a \vdash [ CD ] \vdash [ E ] \vdash E \varepsilon C \equiv [ F ] \vdash [ \exists G ] \vdash G \varepsilon el(E) \vdash G \varepsilon el(F) \equiv [ \exists HI ] \vdash H \varepsilon a \vdash I \varepsilon el(F) \vdash I \varepsilon el(H) \vdash B \varepsilon el(C) \vdash B \varepsilon el(D) \supset \vdash A \varepsilon el(D)$  [2; 3]
- BT20**  $[ABa] \vdash B \varepsilon a \vdash [CD] \vdash [E] \vdash E \varepsilon C \equiv [F] \vdash [\exists G] \vdash G \varepsilon el(E) \vdash G \varepsilon el(F) \equiv [\exists HI] \vdash H \varepsilon a \vdash I \varepsilon el(F) \vdash I \varepsilon el(H) \vdash B \varepsilon el(C) \vdash B \varepsilon el(D) \supset \vdash A \varepsilon el(B)$
- Proof:*  $[ABa] \vdash Hp(2) \supset \vdash$
- (3)  $[E] \vdash E \varepsilon Kl(a) \equiv [F] \vdash [\exists G] \vdash G \varepsilon el(E) \vdash G \varepsilon el(F) \equiv [\exists HI] \vdash H \varepsilon a \vdash I \varepsilon el(F) \vdash I \varepsilon el(H) \vdash$  [BT3; 1]
- (4)  $B \varepsilon el(Kl(a)) \vdash$  [BT18; 1]
- (5)  $B \varepsilon el(B) \vdash$  [BT2; 1]
- $A \varepsilon el(B) \vdash$  [2; 3; 4; 5]
- BT21** (= B<sub>1</sub>A1) [BT19; BT20]

It is evident from BT21 that any thesis derivable within the framework of System  $\mathfrak{B}_1$  can be derived within the framework of System  $\mathfrak{B}$ .

With a view to proving that, conversely, any thesis derivable within the framework of System  $\mathfrak{B}$  can be derived within the framework of System  $\mathfrak{B}_1$ . We now deduce, within the latter system, the following theses:

- B<sub>1</sub>A1**  $[AB] \vdash A \varepsilon el(B) \equiv \vdash [\exists a] \vdash B \varepsilon a \vdash [CD] \vdash [E] \vdash E \varepsilon C \equiv [F] \vdash [\exists G] \vdash G \varepsilon el(E) \vdash G \varepsilon el(F) \equiv [\exists HI] \vdash H \varepsilon a \vdash I \varepsilon el(F) \vdash I \varepsilon el(H) \vdash B \varepsilon el(C) \vdash B \varepsilon el(D) \supset \vdash A \varepsilon el(D)$  [Axiom]
- B<sub>1</sub>D1(=E2)**  $[Aa] \vdash A \varepsilon A \vdash [B] \vdash [\exists C] \vdash C \varepsilon el(A) \vdash C \varepsilon el(B) \equiv [\exists DE] \vdash D \varepsilon a \vdash E \varepsilon el(B) \vdash E \varepsilon el(D) \equiv A \varepsilon Kl(a)$  [Definition]
- B<sub>1</sub>T1**  $[AB] \vdash A \varepsilon el(B) \supset \vdash B \varepsilon B$  [B<sub>1</sub>A1]
- B<sub>1</sub>T2**  $[Aa] \vdash A \varepsilon a \supset \vdash A \varepsilon el(A)$
- Proof:*  $[Aa] \vdash Hp(1) \supset \vdash$
- (2)  $A \varepsilon el(A) \vee \vdash [\exists D] \vdash A \varepsilon el(D) \vdash \sim(A \varepsilon el(D)) \vdash$  [B<sub>1</sub>A1; 1]
- $A \varepsilon el(A) \vdash$  [2]
- B<sub>1</sub>T3**  $[Fa] \vdash F \varepsilon a \supset \vdash [A] \vdash A \varepsilon Kl(a) \equiv [B] \vdash [\exists C] \vdash C \varepsilon el(A) \vdash C \varepsilon el(B) \equiv [\exists DE] \vdash D \varepsilon a \vdash E \varepsilon el(B) \vdash E \varepsilon el(D)$  [B<sub>1</sub>D1; B<sub>1</sub>T2; B<sub>1</sub>T1]
- B<sub>1</sub>T4**  $[AB] \vdash A \varepsilon el(B) \supset \vdash [\exists a] \vdash B \varepsilon a \vdash [D] \vdash B \varepsilon el(Kl(a)) \vdash B \varepsilon el(D) \supset \vdash A \varepsilon el(D)$
- Proof:*  $[AB] \vdash Hp(1) \supset \vdash$
- $[ \exists a ] \vdash$
- (2)  $B \varepsilon a \vdash$
- (3)  $[CD] \vdash [E] \vdash E \varepsilon C \equiv [F] \vdash [\exists G] \vdash G \varepsilon el(E) \vdash G \varepsilon el(F) \equiv [\exists HI] \vdash H \varepsilon a \vdash I \varepsilon el(F) \vdash I \varepsilon el(H) \vdash B \varepsilon el(C) \vdash B \varepsilon el(D) \supset \vdash A \varepsilon el(D) \vdash$  } [B<sub>1</sub>A1; 1]

- (4)  $[E] \therefore E \varepsilon Kl(a) \equiv: [F] : [\exists G] . G \varepsilon el(E) . G \varepsilon el(F) \equiv,$   
 $[\exists HI] . H \varepsilon a . I \varepsilon el(F) . I \varepsilon el(H) ::$  [B<sub>1</sub>T3; 2]
- (5)  $[D] : B \varepsilon el(Kl(a)) . B \varepsilon el(D) \supset . A \varepsilon el(D) \therefore$  [3; 4]  
 $[\exists a] : B \varepsilon a : [D] : B \varepsilon el(Kl(a)) . B \varepsilon el(D) \supset . A \varepsilon el(D)$  [2; 5]
- B<sub>1</sub>T5**  
 $[ABCDa] \therefore B \varepsilon a : [E] : B \varepsilon el(Kl(a)) . B \varepsilon el(E) \supset . A \varepsilon el(E) \therefore$   
 $[E] \therefore E \varepsilon C \equiv: [F] : [\exists G] . G \varepsilon el(E) . G \varepsilon el(F) \equiv. [\exists HI] .$   
 $H \varepsilon a . I \varepsilon el(F) . I \varepsilon el(H) :: B \varepsilon el(C) . B \varepsilon el(D) \supset . A \varepsilon el(D)$
- Proof:*  
 $[ABCDa] \therefore Hp(5) \supset \supset ::$
- (6)  $[E] \therefore E \varepsilon Kl(a) \equiv: [F] : [\exists G] . G \varepsilon el(E) . G \varepsilon el(F) \equiv,$   
 $[\exists HI] . H \varepsilon a . I \varepsilon el(F) . I \varepsilon : el(H) ::$  [B<sub>1</sub>T3; 1]
- (7)  $[E] : E \varepsilon C \equiv. E \varepsilon Kl(a) \therefore$  [3; 6]
- (8)  $B \varepsilon el(Kl(a)) .$  [Extensionality; 7; 4]  
 $A \varepsilon el(D)$  [2; 8; 5]
- B<sub>1</sub>T6**  
 $[ABa] \therefore B \varepsilon a : [D] : B \varepsilon el(Kl(a)) . B \varepsilon el(D) \supset . A \varepsilon el(D) \supset .$   
 $A \varepsilon el(B)$
- Proof:*  
 $[ABa] \therefore Hp(2) \supset \supset ::$
- (3)  $[CD] \therefore [E] \therefore E \varepsilon C \equiv: [F] : [\exists G] . G \varepsilon el(E) . G \varepsilon el(F) \equiv,$   
 $[\exists HI] . H \varepsilon a . I \varepsilon el(F) . I \varepsilon el(H) :: B \varepsilon el(C) . B \varepsilon el(D) \supset .$   
 $A \varepsilon el(D) \therefore$  [B<sub>1</sub>T5; 1; 2]  
 $A \varepsilon el(B)$  [B<sub>1</sub>A1; 1; 3]
- B<sub>1</sub>T7(=B<sub>1</sub>A1.1)** [B<sub>1</sub>T4; B<sub>1</sub>T6]
- B<sub>1</sub>T8**  $[Aa] : A \varepsilon a \supset . A \varepsilon el(Kl(a))$  [B<sub>1</sub>T6]
- B<sub>1</sub>T9**  $[Aa] : A \varepsilon a \supset . Kl(a) \varepsilon Kl(a)$  [B<sub>1</sub>T8; B<sub>1</sub>T1]
- B<sub>1</sub>T10**  $[Aa] : A \varepsilon a \supset . A \varepsilon Kl(A)$  [B<sub>1</sub>D1]
- B<sub>1</sub>T11**  $[Aa] : A \varepsilon a \supset . A = Kl(A)$  [B<sub>1</sub>T9; B<sub>1</sub>T10]
- B<sub>1</sub>T12**  $[ABC] : A \varepsilon el(B) . B \varepsilon el(C) \supset . A \varepsilon el(C)$
- Proof:*  
 $[ABC] \therefore Hp(2) \supset \supset ::$   
 $[\exists a] \therefore$
- (3)  $B \varepsilon a :$
- (4)  $[D] : B \varepsilon el(Kl(a)) . B \varepsilon el(D) \supset . A \varepsilon el(D) \therefore$  } [B<sub>1</sub>T4; 1]
- (5)  $B \varepsilon el(Kl(a)) \therefore$  [B<sub>1</sub>T8; 3]  
 $A \varepsilon el(C)$  [4; 5; 2]
- B<sub>1</sub>T13**  
 $[ABCDa] \therefore A \varepsilon el(B) \therefore [E] \therefore E \varepsilon D \equiv: [F] : [\exists G] . G \varepsilon el(E) .$   
 $G \varepsilon el(F) \equiv. [\exists HI] . H \varepsilon a . I \varepsilon el(F) . I \varepsilon el(H) :: B \varepsilon el(B) .$   
 $B \varepsilon el(C) . C \varepsilon a \supset \supset . A \varepsilon el(D)$
- Proof:*  
 $[ABCDa] \therefore Hp(5) \supset \supset ::$
- (6)  $[E] \therefore E \varepsilon Kl(a) \equiv: [F] : [\exists G] . G \varepsilon el(E) . G \varepsilon el(F) \equiv. [\exists HI] .$   
 $H \varepsilon a . I \varepsilon el(F) . I \varepsilon el(H) ::$  [B<sub>1</sub>T3; 5]
- (7)  $[E] : E \varepsilon D \equiv. E \varepsilon Kl(a) \therefore$  [2; 6]
- (8)  $A \varepsilon el(C) .$  [B<sub>1</sub>T12; 1; 4]
- (9)  $C \varepsilon el(Kl(a)) .$  [B<sub>1</sub>T8; 5]
- (10)  $A \varepsilon el(Kl(a)) .$  [B<sub>1</sub>T12; 8; 9]  
 $A \varepsilon el(D)$  [Extensionality; 7; 10]
- B<sub>1</sub>T14**  
 $[AB] \therefore B \varepsilon B \therefore [CDa] \therefore [E] \therefore E \varepsilon D \equiv: [F] : [\exists G] . G \varepsilon el(E) .$   
 $G \varepsilon el(F) \equiv. [\exists HI] . H \varepsilon a . I \varepsilon el(F) . I \varepsilon el(H) :: B \varepsilon el(B) .$   
 $B \varepsilon el(C) . C \varepsilon a \supset \supset . A \varepsilon el(D) \supset \supset . A \varepsilon el(B)$
- Proof:*  
 $[AB] \therefore Hp(2) \supset \supset ::$
- (3)  $B \varepsilon el(B) \therefore$  [B<sub>1</sub>T2; 1]

- (4)  $[E] \therefore E \varepsilon Kl(B) \equiv: [F] : [\exists G] . G \varepsilon el(E) . G \varepsilon el(F) \equiv.$   
 $[\exists HI] . H \varepsilon B . I \varepsilon el(F) . I \varepsilon el(H) ::$  [B<sub>1</sub>T3; 1]
- (5)  $A \varepsilon el(Kl(B)) .$  [B<sub>1</sub>T10; 1]
- (6)  $B = Kl(B) .$  [B<sub>1</sub>T11; 1]  
 $A \varepsilon el(B)$  [5; 6]
- B<sub>1</sub>T15(=BA1)** [B<sub>1</sub>T1; B<sub>1</sub>T13; B<sub>1</sub>T14]

It is evident from B<sub>1</sub>T15 that any thesis derivable within the framework of System  $\mathfrak{B}$  can be derived within the framework of System  $\mathfrak{B}_1$ , and this completes the proof that the two systems are inferentially equivalent.

#### REFERENCE

- [1] Lejewski, C., "A note concerning the notion of mereological class," *Notre Dame Journal of Formal Logic*, vol. 19 (1978), pp. 251-263.

*Department of Philosophy*  
*University of Manchester*  
*Manchester, M13 9PL, England*